                                                                          Practice      TEST #3                                                           MAT 140
PROF. PORTER                                                                                       STUDENT NAME:___________________________

1. Give examples of  three polynomial  functions with different degrees.
2. (Data->Equation) Suppose that an average 60” tall student weighs 100lbs, and an average 65” student weights 125lbs. Use an exponential  relationship to describe the average student’s weight W as a function of the student’s height H if the minimum weight of a student is 8 lbs. ( assume a horizontal asymptote of 8lbs).










W(H)=_________________________

How tall should a 200lb student be?










ANSWER:_____________________

3.  (Data->Equation) Suppose you gather some more information and discover that not only can a 60” student weigh 100lbs, and a 65” student weigh 125lbs, but that a 63” student can weigh 140lbs and that a 70” student can weigh 200lbs. Find a cubic regression to represent the weight W as a function of the Height H 









W(H)=_________________________


How much should a 65” person weigh?
4. (Equation ->Graph) Graph your regression in problem #3 and show the plotted points.
(Graph -> Prediction) How many faces does the graph in #5 have? 
________




What is the most number of faces a cubic regression can have? ________




What is the most number of zeros a cubic regression can have? _______




Estimate where one of the zeros might be.______




How many complex roots might there be?______

5. (Equation -> Prediction) Suppose your regression equation is 
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Describe the end behavior.



Find any extrema




Find one of the zeros and give your answer to 2 decimal places. _______

6. (Equation -> Graph)  Graph :    g(x) = -3ex-5  + 2
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 Explain in words what has happened to the parent function above and in the correct order.


Where are any asymptotes?
7. (Equation ->Predicion) Given the same function: 

Give a qualitative graph of the function: 

8. Given a graph:

describe the possible degree, zeros, and end behaviour.




Minimum Degree:_______  Lead coefficiect:______

Real Zeros:________    Complex Zeros________


Behaviour as x goes to infinity:_____________

9. Give a graph for y = 
[image: image2.wmf]2(3)(2)

(7)(5)

xx

xx

-+

-+


Discuss all the relevant features: asymptotes, intercepts , end behavior

10. Given f(x) = x+3  and g(x) = 2x – 8  and h(x) = x(x-1)

Find (f + g) (x)

Find (f/g)(4)

Find (f (g)(5))

Find (f o h)(5)

















































� EMBED Equation.3  ���








_1321336007.unknown

_1321362848.unknown

_1201610879.unknown

